RESOLUTION NO. 2020 - 92

A RESOLUTION BY THE BOARD OF COUNTY COMMISSIONERS OF ST. JOHNS COUNTY, FLORIDA, AUTHORIZING THE COUNTY ADMINISTRATOR, OR DESIGNEE, TO PURCHASE AND EXECUTE A PURCHASE ORDER FOR WATER METER EQUIPMENT.

RECITALS

WHEREAS, the County seeks to purchase water meter equipment for St Johns County Utility Department; and

WHEREAS, in accordance with section 302.5 of the St. Johns County Purchasing Manual, entitled "Standardization", the County is authorized to make said purchase in order to standardize and upgrade the current water meters; and

WHEREAS, Resolution 88-11 authorized standardization of the purchasing the meters from Rockwell International, Rockwell Water Meter Division, AKA Sensus USA, Inc., which authorizes purchase without public solicitation, and

WHEREAS, HD Supply Waterworks is the Sole Distributor for Sensus water meters, and

WHEREAS, HD Supply Waterworks name has changed to Core & Main, the local distributor, and

WHEREAS, St Johns County Utility Department is able to purchase the meters directly from Sensus, USA, Inc., the manufacturer for a total savings of \$18,483.07, and

WHEREAS, the purchase of the water meter equipment will be funded by St Johns County Utility Department; and

WHEREAS, the purchase of the water meter equipment serves a public purpose.

NOW, THEREFORE BE IT RESOLVED BY THE BOARD OF COUNTY COMMISSIONERS OF ST. JOHNS COUNTY, FLORIDA, as follows:

- Section 1. The above Recitals are incorporated by reference into the body of this Resolution and such Recitals are adopted as finds of fact.
 - Section 2. The County Administrator, or designee, is hereby authorized to purchase the water meter equipment.
- Section 3. Upon Board approval, the County Administrator, or designee, is authorized to execute a purchase order in the amount of \$383,767.93 for the purchase of the water meter equipment from Sensus, USA, Inc.
- Section 4. To the extent that there are typographical and/or administrative errors that do not change the tone, tenor, or concept of this Resolution, then this Resolution may be revised without subsequent approval by the Board of County Commissioners.

PASSED AND ADOPTED by the Board of County Commissioners of St. Johns County, Florida, this 17th day of 4200.

BOARD OF COUNTY COMMISSIONERS OF ST. JOHNS COUNTY, FLORIDA

By: Jeb S. Smith, Chair

Brandon, Patty, Clerk

Deputy Clerk

RENDITION DATE



The Measure of the Future

Sensus USA, Inc. 450 North Gallatin Ave. PO Box 487

Uniontown, PA 15401 1-800-METER-IT

Bill to Cust

717193

EFFECTIVE DATE 2/12/2020 EXPIRATION DATE 5/12/2020

Quote Reference

TBD

Ship to Customer

10

St Johns County Utility Dept Atta: Robby Kling 2104 Arc Dr

St Augustine, FL 32084

2104 Arc Dr

St Augustine, FL 32084

St Johns County Utility Dept

| | SALESPERSON | SHIPPING METHOD | SHIPPING TERMS | PAYMENT TERMS | PAYMENT TERMS | |
|-----------------|-----------------|---|--------------------|------------------|-------------------|--|
| Griff Machinski | | : Full Freight Allowed | FOB Destination | Net 30 days | Net 30 days | |
| Line | Part Number | DESCRIPTION | Ouantity | UNIT PRICE | EXTENDED PRICE | |
| 1 | I2S1GDXX | 3/4" iPERL meter | 1,983 | \$ 99.86 | \$ 198,022.38 | |
| 2 | I4S1GDXX | 1" iPERL meter | 37 | \$ 146.64 | \$ 5,425.68 | |
| 3 | T11XXXXG1BA0X | 1.5" Omni T2 meter | 8 | \$ 613.34 | \$ 4,906.72 | |
| 4 | T21XXXXG1BA0X | 2" Omni T2 meter | 20 | \$ 725.59 | \$ 14,511.80 | |
| 5 | C33XXXXG1BA0X | 3 ^{II} Omni C2 meter | 10 | \$ 1,482.72 | \$ 14,827.20 | |
| 6 | C43XXXXG1AA0X | 4 ⁿ Omni C2 meter | 3 | \$ 2,575.25 | \$ 7,725.75 | |
| 7 ` | C63XXXXG1AA0X | 6" Omni C2 meter | 3 | \$ 4,400.00 | \$ 13,200,00 | |
| 8 | F6CXXXXG1AA0X | 6" Omni F2 meter - Compact lay length | 2 | \$ 7,609.06 | \$ 15,218.12 | |
| 9 | F8CXXXXG1AA0X | 8" Omni F2 meter - Compact lay length | 1 | \$ 11,391.80 | \$ 11,391.80 | |
| 10 | 5396353752201MI | 520M SmartPoint - Single Port TouchCouple Pit-Set | 524 | \$ 127.50 | \$ 66,810.00 | |
| 11 | 5396353752203MI | 520M SmartPoint - Dual Port TouchCouple Pit-Set | 189 | \$ 143.32 | \$ 27,087.48 | |
| 12 | R100NA | R100NA Collector w/ Antenna Kit | . 1 | \$ 4,641.00 | \$ 4,641.00 | |
| | - | · · · · · · · · · · · · · · · · · · · | | TOTAL | \$ 383,767.93 | |

| FlexNet SmartPoint Warranty Replacement Cost Schedule | 8 | Single Port | | Dual Port | |
|---|------|-------------|-----------|-----------|--|
| Year(s) 1 through 10 | . N | lo Charge | No Charge | | |
| Year 11 | \$ | 56.78 | \$ | 75.42 | |
| · Year 12 | . \$ | 66.24 | \$ | 87.99 | |
| Year 13 | \$ | 75.70 | \$ | 100.56 | |
| Year 14 | \$ | 85.16 | 63 | 113,13 | |
| Year 15 | \$ | 94,63 | 49 | 125.71 | |
| Year 16 | \$ | 104.09 | 69 | 138,28 | |
| Year 17 | | 113.55 | | | |
| Year 18 | \$ | 123.01 | | | |

All 520X listed on standard RMA to be replaced with 520M using warranty pro-rated pricing. Quantities at each fler to be determined by RMA Services Team,

IF MODIFICATIONS IN METER MATERIALS OR PROCESSING ARE REQUIRED TO MEET NEW REGULATIONS, THE PRICING SUBMITTED IS SUBJECT TO IMMEDIATE CHANGE. Thank you for your interest in quality products by Sensus.

Current as

2/5/2020

Correspondence:

Sensus 1183 Teal Street

Bowling Green, KY 42104

Robert Whittaker - Sales Director, Southern Region

Purchase Orders: Sensus PO Box 487 Uniontown, PA 15401 sensus.orders@xyleminc.com

1-800-METER-IT 1-800-638-3748

This Quotation is an offer to sell which includes and is subject to the Sensus USA Inc. Terms of Sale available for viewing and downloading at www.Sensus.com. Please contact Customer Service at 1-800-638-3748 if you are unable to access this site and require a printed copy of the Terms of Sale.

Anastasia Sanitary District RESOLUTION NO. 88-11

WHEREAS, the Anastasia Sanitary District and Mainland Water System under the governing body of the St. Johns County Board of County Commissioners have installed a specific type of water meter over the years, and

WHEREAS, the specific water meters utilized and installed by Anastasia Sanitary District and Mainland are manufactured by Rockwell International, and

WHEREAS, Anastasia Sanitary District and Mainland Water System meters are read by an Automated Meter Reading System provided only by Rockwell International, giving meter readings by touch, and

WHEREAS, future purchases of water meters must all be purchased from Rockwell International the only source of meter compatible with the Automatic Meter Reading System,

NOW THEREFORE BE IT RESOLVED, by the Board of County Commissioners, as governing body of Anastasia Sanitary District and Mainland Water System authorizes the Director of Utilities of Anastasia Sanitary District and the County Administrator to purchase as sole source, the water meters from Rockwell International as required, as provided in Florida Law 81-843 paragraph (d) when goods, supplies, or materials are available from only one source.

BOARD OF COUNTY COMMISSIONERS OF ST. JOHNS COUNTY, FLORIDA

By Lawrence O. Hartlay
Its Chairman

ATTEST: CARL "BUD" MARKEL, CLERK

By: Synth McDonald



Bid Proposal for SJCO METERS 2020

ST JOHNS COUNTY UTILITY DEPT

2104 ARC DRIVE

SAINT AUGUSTINE, FL 32084

Contact: Frank Kenton

Job

SJCO METERS 2020

SJCO, FL

Bid Date: 01/01/2020

Bid #: 1207158

Sales Representative

Samuel Shay

(M) 904-838-9568

(T) 904-268-7007

(F) 904-268-4764

Sam.Shay@coreandmain.com

Core & Main

6854 Distribution Ave S Jacksonville, FL 32256

(T) 904-268-7007



Bid Proposal for SJCO METERS 2020

ST JOHNS COUNTY UTILITY DEPT

Job Location: SJCO, FL Bid Date: 01/01/2020 Core & Main 1207158 Core & Main 6854 Distribution Ave S

Jacksonville, FL 32256
Phone: 904-268-7007
Fax: 904-268-4764

| Seq# | Qty | Description | Units | Price | Ext Price |
|------------|------------|--|----------|----------|-----------|
| 10 | | METERS | | | |
| 20 | | IPERL | ; | | |
| 30 | ļ | 3/4 WATER | | | ļļ |
| 40 | 1 | 3/4S IPERL TRPL 10G 6' 2W SM 2 WIRE, 7.5"LL SMART MODE I2S1GDXX (1) | EA | 105.00 | 105,00 |
| 50 | | 3/4 REUSE | | | |
| 60 | 1 | 3/4S IPERL TR 10G 6' 2W SM RCL RECLAIM 2 WIRE 7.5"LL SMART MODE I2S1GDXR | EA | 122.00 | 122,00 |
| 70 | | 1" WATER | · | | |
| 80 | 1 | • | ユ) EA | 152.00 | 152.00 |
| 90 | 1 | , 1"REUSE | DVD EA | 100.00 | 165.00 |
| 100 |] 1 | 1 IPERL TRPL 10G 6' 2W SM RCLM RECLAIM 2 WIRE 10.75"LL SMART MODE I4S1G IPERL PARTS | DXR EA | 165.00 | 165.00 |
| 120 | 1 | IPERL 6' TRPL 2-WIRE CONNECTOR SM50535200001 | EA | 17.38 | 17.38 |
| 130 | - | DUAL PORT | , | 17.36 | 17.38 |
| 140 | 1 | SENSUS M520M TRANS UNIT DUAL WIRED (//) | EA | 165.00 | 165.00 |
| 150 | i - ! | SINGLE PORT | | | 202,00 |
| 160 | 1 | | EA | 127.72 | 127.72 |
| İ | | | : | | |
| 180 | | OMNI T2 | | | i |
| 190 | | 1-1/2 T2 | ! | | j |
| 200 | 1 | OMNI 1-1/2" T2 METER USG TR/PL W/INTERGAL STRAINER L/HSNG (3) | EA | 710.00 | 710.00 |
| 210 | | 2" T2 | | | |
| 220 | 1 <u> </u> | OMNI T21G1BA 2" T2 METER 10G T21XXXG1BAXX (4) | EA . | 832.00 | 832,00 |
| 240 | ! ! ! ! | OMNI C2 | · } | | 1 |
| 250 | | 1-1/2 REUSE | | | |
| 260 | 1 | OMNI 1-1/2 C2 COMPOUND METER FOR RECLAIM | EA | 1,070.00 | 1,070.00 |
| 270 | | 1-1/2 WATER | ! | | , |
| 280 | 1 | OMNI 1-1/2" C2 MTR 1000 GAL W/ INT'L STRNR, DEF'T PULSE OUT 13" LL | EA | 1,055.00 | 1,055.00 |
| 290 | | 2" REUSE | ; 1 | | 1 |
| 300 | 1 | OMNI 2" C2 COMPOUND METER | EA | 1,233.00 | 1,233.00 |
| 310 | | 2" WATER | | | ļ |
| 320 | 1 ! | OMNI 2" C2 COMPOUND METER | EA | 1,217.00 | 1,217.00 |
| 330 | | 3"REUSE | : | 4 555 60 | 4 777 00 |
| 340 | 1 | OMNI 3" C2 1000GAL MTR RECLAIM | EA | 1,557.00 | 1,557.00 |
| 350 360 | 1 1 | 3" C2 OMNI COMPOUND METER (S) WATER | EA | 1,541.00 | 1,541.00 |
| 370 | - | 4" REUSE | - FA | 1,541.00 | 1,541.00 |
| 380 | 1 | OMNI 4" C2 MTR 10GAL METER W/ INTNR'L STRNR, DEF'T PULSE OUT | EA | 2,690.00 | 2,690,00 |
| 390 | i | 4" WATER | | ., | |
| 400 | 1 | OMNI 4" C2 MTR 10GAL METER W/ INTNR'L STRNR, DEF'T PULSE OUT (4) | EA | 2,677.00 | 2,677.00 |
| 410 | l İ | 6' REUSE | Ì | ! | į |
| 420 | 1 | OMNI 6" C2 COMPOUND METER | EA | 4,421.02 | 4,421.02 |
| 430 | İ | 6" WATER | ļ | į | į |
| 440 | 1 | OMNI 6" C2 COMPOUND METER (7) | EA | 4,406.73 | 4,406.73 |
| 450 | | 8"REUSE | ; F | 7 400 00 | 7.400.00 |
| 460 470 | 1 | 8" OMNI C2 COMPOUND METER 8" WATER | EA | 7,489.68 | 7,489.68 |
| 4/0 | ! | O WAIEN | <u> </u> | <u>i</u> | ! |

01/29/2020 - 8:51 AM

Actual taxes may vary

Page 2 of 3



Bid Proposal for SJCO METERS 2020

Bid #: 1207158

| Seq# | Qty | Description | Units | Price | Ext Price | |
|------|-----|---|-------|------------|-----------|--|
| 480 | 1 | 8" OMNI C2 COMPOUND METER | EA | 7,474.68 | 7,474.68 | |
| 500 | | OMNI R2 | į (| | | |
| 510 | | 1-1/2 REUSE | | | | |
| 520 | 1 | OMNI 1-1/2 R2 10G 13"LL RECLM RECLAIM R11RXXXG8BAXX | EA | 451.00 | 451.00 | |
| 530 | | 1-1/2 WATER | | | | |
| 540 | 1 | OMNI 1-1/2" R2 METER 100 GAL W/STRNR, 4-WHEEL, TOTAL MODE | EA | 437.00 | 437.00 | |
| 550 | | 2" REUSE | i l | ł | | |
| 560 | 1 | OMNI 2" R2 MTR 10 GAL RECLAIM RECLAIM | EA I | 629.00 | 629.00 | |
| 570 | | 2" WATER | | 544.05 | 744.00 | |
| 580 | 1 | 2 OMNI R2 METER | EA | 614.00 | 614.00 | |
| 600 | | OMNI F2 | 1 | | ļ | |
| 610 | | 4"F2 | | | 1 | |
| 620 | 1 | OMNI F4CXG1DAX 4" F2 FIRE SERVICE METER GALLONS W/UL/FM STRAINER 33"LL | EA | 5,732.19 | 5,732.19 | |
| 630 | | 6"F2 | . 1 | | İ | |
| 640 | 1 | OMNI F6CXG1DAX 6" F2 FIRE SERVICE METER GALLONS W/UL/FM STRAINER 45"LL $~\mathcal{L}\ell$, |) EA | 7,628.92 ` | 7,628.92 | |
| 650 | | 8"F2 | | : | | |
| 660 | 1 | OMNI 8" F2 FIRELINE MTR US GAL (9) | EA | 11,421.69 | 11,421.69 | |
| 670 | | 10"F2 | | 46 227 25 | 46 207 25 | |
| 680 | Αį | OMNI 10" F2 FIRELINE METER COMPACT GAL | EA | 16,337.35 | 16,337.35 | |
| ! | l | Sub Total | | | | |
| į . | | | | Тах | 0.00 | |
| ! | | · · | • | Total | 82,479.36 | |

Branch Terms:

UNLESS OTHERWISE SPECIFIED HEREIN, PRICES QUOTED ARE VALID IF ACCEPTED BY CUSTOMER AND PRODUCTS ARE RELEASED BY CUSTOMER FOR MANUFACTURE WITHIN THIRTY (30) CALENDAR DAYS FROM THE DATE OF THIS QUOTATION. CORE & MAIN LP RESERVES THE RIGHT TO INCREASE PRICES UPON THIRTY (30) CALENDAR DAYS' NOTICE TO ADDRESS FACTORS, INCLUDING BUT NOT LIMITED TO, GOVERNMENT REGULATIONS, TARIFFS, TRANSPORTATION, FUEL AND RAW MATERIAL COSTS. DELIVERY WILL COMMENCE BASED UPON MANUFACTURER LEAD TIMES. ANY MATERIAL DELIVERIES DELAYED BEYOND MANUFACTURER LEAD TIMES MAY BE SUBJECT TO PRICE INCREASES AND/OR APPLICABLE STORAGE FEES. THIS BID PROPOSAL IS CONTINGENT UPON BUYER'S ACCEPTANCE OF SELLER'S TERMS AND CONDITIONS OF SALE, AS MODIFIED FROM TIME TO TIME, WHICH CAN BE FOUND AT: https://coreandmain.com/TandC/

| | | | | | | | * | |
|--|-------------|-----------|----------------------|-------------------|--------------|--------------|-------------|---------------------------------------|
| , | | | | | | | | • |
| · | | | | | | | | |
| · · · · · · · · · · · · · · · · · · · | | | <u>-</u> | | | | | |
| EV20 Mater Charge Out During | | | | | | | <u> </u> | |
| FY20 Meter Change Out Project | | - 0.14 | • | | | <u> </u> | 37710110 | |
| _ | | Core & Ma | ain T | | - | | SENSUS | |
| | | | | - | | | | - |
| 3/4 S IPERL TRPL 10G 6' | \$ 105.00 | 1,983 | \$ 208,215.00 | | \$ | 99.86 | 1,983 | \$ 198,022.38 |
| 3/43 II ERE 111 E 233 C | 7 105.00 | 1,300 | \$ 208,213.00 | - | 7_ | | 1,505 | \$ 190,022.36 |
| 1 IPERL TRPL 10G 6' | \$ 152.00 | 37 | \$ 5,624.00 | | \$ | 146.64 | 37 | \$ 5,425.68 |
| | | | \$ - | | · · · · | | | \$ - |
| OMNI 1 1/2 TS Meter | \$ 710.00 | 8 | | | \$ | 613.34 | 8 | |
| | | | \$ - | | 4 | | | \$ - |
| OMNI T21G1BA 2" | \$ 832.00 | 20 | \$ 16,640.00 | | \$ | 725.59 | 20 | \$ 14,511.80 |
| | | | \$ - | | | | | \$ - |
| 3" C2 OMNI Comp Meter | \$ 1,541.00 | 10 | \$ 15,410.00 | | \$ | 1,482.72 | 10 | \$ 14,827.20 |
| | | | \$ - | | | | | \$ - |
| OMNI 4" C2 MTR 10GaL | \$ 2,677.00 | 3 | \$ 8,031.00 | | \$ | 2,575.25 | 3 | <u> </u> |
| | | | \$ - | | į | | | \$ - |
| OMNI 6" C2 Comp Mtr | \$ 4,406.73 | 3 | \$ 13,220.19 | | \$ | 4,400.00 | 3 | · · · · · · · · · · · · · · · · · · · |
| | | | \$ - | \longrightarrow | | | | \$ - |
| OMNI F6CXG1DAX 6" | \$ 7,628.92 | 2 | \$ 15,257.84 | | \$ | 7,609.06 | 2 | |
| OLANI OLEGE IV NATD | 1 424 60 | | \$ - | | À. | 11.001.00 | <u> </u> | \$ - |
| OMNI 8" FS Fireline MTR | \$11,421.69 | 1 | \$ 11,421.69 | } | \$ | 11,391.80 | 1 | |
| 520M Single Bort Touch Couplers | A 127.72 | F24 | \$ - | \longrightarrow | <u>,</u> | 127.50 | F24 | \$ - |
| 520M Single Port Touch Couplers | \$ 127.72 | 524 | \$ 66,925.28 | | \$ | 127.50 | 524 | \$ 66,810.00 |
| Senus M520M Trans Unit Dual Wired | \$ 165.00 | 189 | · | \longrightarrow | \$ | 142 22 | 189 | |
| Serius Miszolvi Italis Olit Duai wired | 1 2 102.00 | 103 | \$ 31,185.00 | \dashv | Þ | 143.32 | 702 | \$ 27,087.48 |
| | | | \$ 397,610.00 | \dashv | 1 | | | \$ 379,126.93 |
| | _ | | \$ 337,010.00 | | | | | less |
| | | | | | | | | 1623 |
| - | | | | <u></u> | - | Differen | CO | i |
| | | | | | \$ | | 3,483.07 | |
| | | | | | - | | ,, 100107 | |
| R100NA Collector w/antenna | | 1 | - | | \$ | 4,641.00 | | \$ 4,641.00 |
| (antenna purchase only SENSUS) | | | | | <u> </u> | .,0 .1 | | 7 ,,612.66 |
| | | | | | | | | |
| | | | | Ť | Tota | al Purchase: | | \$ 383,767.93 |

•